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Richard Feynman

Nobelpreis fur Physik in 1965:

If you think you understand quantum mechanics,
you don't understand quantum mechanics.




* 1571 Johannes Kepler Ellipse
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Register mit 2 Qubits
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hitps://quantum-computing.ibm.com E

IBM Quantum Composer Q @ rQ1

File Edit Inspect View Share Try the new Composer beta - Setup and run {8

Verschrankung saved
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Lottozahlen

09.10.1955 3 12
16.10.1955 3 12
23.10.1955 12 14

30.10.1955
06.11.1955
13.11.1955
20.11.1955
27.11.1955
04.12.1955
11.12.1955
18.12.1955

25.12.1955
01.01.1956

08.01.1956
15.01.1956
22.01.1956
29.01.1956
05.02.1956
12.02.1956
19.02.1956
26.02.1956
04.03.1956
11.03.1956
18.03.1956
25.03.1956
02.04.1956
08.04.1956
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09.02.2022
12.02.2022
16.02.2022
19.02.2022
23.02.2022
26.02.2022
02.03.2022
05.03.2022
09.03.2022
12.03.2022
16.03.2022
19.03.2022
23.03.2022
26.03.2022
30.03.2022
02.04.2022
06.04.2022
09.04.2022
13.04.2022
16.04,2022
20.04.2022
23.04.2022
27.04.2022
30.04.2022
04.05.2022
07.05.2022
11.05.2022
14.05.2022

1217 31 39
16 29 30 33
3 10 24 27
7 11 15 24
16 33 43 45
5 15 39

22 25 26 28
18 19 238 36
9 20 32 35
6 8 19
5|17 26|28
12 15 30 39
16 19 45 46
12 13 27 34
37 38 40 46
19 22 24 29
17 27 33 43
7 22 29 42
8 14 19 24
16 19 20 35
29 32 34 38
17 19 25 40
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Laufzeitverhalten
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Nadel im Heuhaufen

87 45 62 31 098 42 13 54

Lov Grover *1960
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Grover mit 3 Qubits

Grover with 3 Qubits saved
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Frobability (% of 1024 shots)
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Computational basis states




Einwegfunktion

1900739450280241887356469178p400144546069794935241533592195
22609005285406974070533311796377618958006156358063228557773
96006499513330486337609

89909531058836627717440422?§§641402456684976683721255300590

79902175078147244686379339512677276366231220752229356019349
893671876420931 744377430687%?581 268775424683010128229757471
377245593393386776402256325%/923934437699039483170501603216
9856102553287764 7684683

7183967091857281647581304065755973526232171670874824234027
7642202639496129088670447644099480131986398124330716615728
2762654782938524570528977832394574610476749833012203946414
9315665206737745079315029030505846196489917568869335544 777
3536898140164511893805950504508350916992315431396618655071
6311470774938467149320721564382277558501659803548182002418
9408851781761294219320404437751888461388903116142947




Faktorisierung

Exponentialzeit

m— mehrere Jahre

1994: Peter Shor

Quantenalgorithmus in Polynomzeit

2001: IBM mit 7 Qubits: 15=5* 3
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